Section 2.6

Find all asymptotes, intercepts, and
removable discontinuities of the
function and graph:

2x* +x—10

fo=""7"
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Section 2.6

Find all asymptotes, intercepts, and
removable discontinuities of the
function and graph:
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Section 2.6

Graph the function and give the
asymptotes, intercepts, and limits:

Foo= x—4
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Section 2.6
Find the limits

limf(x) =

X—>00

lim f(x) =

X—>—00

lim f(x)=

Xx—-2"

lim f(x)=

x—>-2"

Section 2.6

Find the limits
lim f(x)=-5
hm f(x)= —-5

lim f(x) =00
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lim f(x)=

x—>-2"
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Section 2.7 Section 2.7
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Section 2.8
Volume of a box

* Find the maximum volume of a box that can
be created by a cardboard rectangle that
measures 8 in by 10 in.

* What cuts can be made so the volume is at
least 40 cubic inches? (answer in interval
notation.
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Section 2.8

Volume of a box

* Find the maximum volume of a box that can
be created by a cardboard rectangle that
measures 8 in by 10 in.
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* What cuts can be made so the volume is at
least 40 cubic inches? (answer in interval
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